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ÍÛ æ̃ Û ¶ Û Û  :   (1) ›÷¾Û¨Ûà ¼ÛÛ›ä÷ ÅÛ”ÛéÅÛ …×ïõ •Ûä̈ Û þùÉÛÛÙÈÛé ™öé. 

Instructions :  Figures to the right indicate marks. 

    (2) ©Û¾Ûé ÍÛÛþùÛ •Û¨Û¶ÛýÛ×ªÛ¶ÛÛé Š¸ÛýÛÛé•Û ïõÁõà ÉÛïõÉÛÛé. 
     You can use simple calculators. 

 

1. (a) ïõÛýÛÛÙ©¾Ûïõ ÍÛ×ÉÛÛéµÛ¶Û (O.R.) ¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé …¶Ûé ©Ûé¶ÛÛé ›ä÷þùÛ×-›ä÷þùÛ× “ÛéªÛÛé¾ÛÛ× Š¸ÛýÛÛé•Û ›÷¨ÛÛÈÛÛé. 7 
  Define O.R. and give its applications in various fields. 

      … ¬ Û ÈÛ Û /OR 

  ïõÛýÛÛÙ©¾Ûïõ ÍÛ×ÉÛÛéµÛ¶Û¶ÛÛ× ÜÈÛÜÈÛµÛ ¾ÛÛé¦éøÅÛÛé ÈÛ¨ÛÙÈÛÛé. 
  Explain various models in O.R. 

 (b) ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û ÅÛ”ÛÛé : (ïõÛé̂ ¸Û¨Û ¼Û é) 4 
  Answer in brief : (any two) 

  (1) ™æö¤øïõ ›÷¬¬ÛÛ¶ÛÛé ÈÛȩ́ ÛÛÁõ ïõÁõ©ÛÛ …éïõ ÈÛé¸ÛÛÁõà¶Ûé …ÛÈÛ©Ûà ÍÛà¡ö¶Û¾ÛÛ× ¾ÛÛ×•Û¶Ûé ÍÛ×©ÛÛéÌÛÈÛÛ ¾ÛÛ¤éø ïéõ¤øÅÛÛ× 
…éïõ¾ÛÛé¶ÛÛé ›÷¬¬ÛÛé ÁõÛ”ÛÈÛÛé ›Ûé̂ …é ©Ûé¶ÛÛé Ü¶Û¨ÛÙýÛ ïõÁõÈÛÛ¶ÛÛé ™öé. ©Ûé¶ÛÛ ¾ÛÛ¤éø •ÛäÄõ-•ÛäÄõ ©Ûé¾Û›÷ 
•ÛäÄõ-ÅÛ–Ûä ÜÍÛ±ùÛ×©Û¶ÛÛé Š¸ÛýÛÛé•Û ïõÁõÛé. 

    

¾ Û Û×•Û 
›÷ ¬ ¬ ÛÛ é 

… Û é™ öÛé ¾ Û µ ýÛ ¾Û ÍÛ Û Á õÛ é 
1000 … éïõ ¾ Û 1500 1200 500 

1800 … éïõ ¾ Û 500 2000 2500 

3000 … éïõ ¾ Û –1000 –1500 5000 

   (Š¸ÛÁõ¶ÛÛ× ïõÛéÌ¤øïõ¾ÛÛ× ÈÛÇ©ÛÁõ¶Ûà Ýïõ¾Û©ÛÛé þùÉÛÛÙÈÛà ™öé.) 

   A retailer has to decide how much amount of quantity of a product to 

purchase to satisfy the demand in coming season. Use maxi-max and maxi-

min principle. 

Demand 
Amount of Quantity 

Weak Medium Good 

1000 units 1500 1200 500 

1800 units 500 2000 2500 

3000 units –1000 –1500 5000 

   (The above table values indicate pay-off values) 
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  (2) ÐüÁõÛéÇ (Queuing) ¶ÛÛé ÜÍÛ±ùÛ×©Û ÉÛä× ™öé ? ©Ûé¶ÛÛé Ðéü©Ûä ÉÛä× ™öé ? 
   What is Queuing theory ? What is its objective ? 

  (3) Áõ¾Û©Û¶ÛÛé ÜÍÛ±ùÛ×©Û ÉÛä× ™öé ? ©Ûé¶ÛÛé Š¸ÛýÛÛé•Û îýÛÛ× ¬ÛÛýÛ ™öé ? 
   What is Game theory ? Where it is applicable ? 

 (c) ¶Ûà˜Ûé¶ÛÛ¶ÛÛ× … éïõ …¬ÛÈÛÛ ¼Ûé ÅÛÛˆ¶Û¾ÛÛ× ›÷ÈÛÛ¼Û ÅÛ”ÛÛé : 3 
  Answer in one or two lines only : 

  (1) Ü¶Û¨ÛÙýÛ¶ÛÛ× ÜÍÛ±ùÛ×©Û¶ÛÛ× ÍÛ×þù½ÛÙ¾ÛÛ× ¶ÛäïõÍÛÛ¶Ûà¶ÛÛé ËÛéÜ¨Ûïõ …é¤øÅÛé ÉÛä× ? 
   With reference to decision theory what do you mean by regret matrix ? 

  (2) ¸Ûæ̈ ÛÛÚïõ …ÛýÛÛé›÷¶Û¶Ûà ÍÛ¾ÛÍýÛÛ (integer programming problem) …é¤øÅÛé ÉÛä× ? 
   What is integer programming problem ? 

  (3) ÍÛà¾ýÛäÅÛéÉÛ¶Û¶Ûà ¸Û±ùÜ©Û îýÛÛÁéõ Š¸ÛýÛÛé•Ûà ™öé ? 
   When simulation technique is used ? 

 

2. (a) ¶Ûà˜Ûé …Û¸ÛéÅÛ ÍÛäÁéõ”Û ÍÛ¾ÛÍýÛÛ¶Ûé ÜÍÛ¾Û¸ÅÛé“Û¶Ûà ¸Û±ùÜ©Û ³ùÛÁõÛ ŠïéõÅÛ ¾ÛéÇÈÛÛé : 7 

      Z = 2000x + 1600y ¶Ûé ¶ýÛæ¶Û«Û¾Û ¼Û¶ÛÛÈÛÛé. 
  ÉÛÁõ©ÛÛé : 6x + 2y ≥ 12, 

    2x + 2y ≥ 8, 

    4x + 12y ≥ 24, 

    x, y ≥ 0 
  Solve the following l.p.p. by using Simplex method only : 

  Min  Z = 2000x + 1600y 

  Subject to the constraints 

     6x + 2y ≥ 12, 

     2x + 2y ≥ 8, 

     4x + 12y ≥ 24, 

     x, y ≥ 0 

… ¬ Û ÈÛ Û /OR 

  …éïõ ÍÛéÅÍÛ¾Ûé¶Û ›ä÷þùÛ×-›ä÷þùÛ× ÉÛÐéüÁõÛé¶Ûà ¾ÛäÅÛÛïõÛ©Û ÅÛé ©Ûé þùÁõÜ¾ÛýÛÛ¶Û ©Ûé ÈÛÍ©Ûä¶ÛÛ× ÈÛé̃ ÛÛ¨Û¶ÛÛ× …¶Ûä¾ÛÛÜ¶Û©Û 
…Û×ïõ¦øÛ…Ûé (Ðü›ÛÁõ ÄõÜ¸ÛýÛÛ¾ÛÛ×) ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé …Û¸ÛéÅÛÛ ™öé. ÍÛéÅÍÛ¾Ûé¶Û ©Ûé¶Ûà ÍÛºõÁõ ÉÛÐéüÁõ A ¬Ûà ÉÛÄõ 
ïõÁéõ ™öé ©Ûé¾Û ›Û¨Û©ÛÛ ÐüÛé̂ …é ©ÛÛé ©Ûé ÍÛéÅÍÛ¾Ûé¶Û ¾ÛÛ¤éø ˆÌ¤ø«Û¾Û Áõà©Ûé þùÁéõïõ ÉÛÐéüÁõ¶Ûà ¾ÛäÅÛÛïõÛ©Û¶ÛÛé ’õ¾Û 
¶Û‘õà ïõÁõÛé. 

   

ÉÛ ÐéüÁ õ  ©Û Á õ ºõ 
ÉÛ ÐéüÁ õ ¬ Û à 

A B C D E 

A – 2 5 7 1 

B 6 – 3 8 2 

C 8 7 – 4 7 

D 12 4 6 – 5 

E 1 3 2 8 – 
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  A salesman estimate that the following would be the expected sales (in thousand 

rupees) on his route visiting the cities. It is given that he starts his journey from city 

A. Find the optimum route. 

To 
From 

A B C D E 

A – 2 5 7 1 

B 6 – 3 8 2 

C 8 7 – 4 7 

D 12 4 6 – 5 

E 1 3 2 8 – 

 (b) ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõÛé̂ ¸Û¨Û ¼Û é¶ÛÛ× Š«ÛÁõ ÅÛ”ÛÛé : 4 

  Answer any two from the followings :  

  (1) …éïõ Š©¸ÛÛþùïõ ªÛ¨Û ÈÛÍ©Ûä…Ûé A, B …¶Ûé C ¶Ûä× Š©¸ÛÛþù¶Û ïõÁéõ ™öé. …Û ÈÛÍ©Ûä…Ûé ¸ÛÁõ¶ÛÛé ¶ÛºõÛé 
…¶Ûä’õ¾Ûé ` 30, ` 20 …¶Ûé ` 40 ™öé. Š©¸ÛÛþù¶Û ¸ÛóÜ’õýÛÛ ¾ÛÛ¤éø ¼Ûé ¾ÛÉÛà¶ÛÛé P …¶Ûé Q ¶ÛÛé 
Š¸ÛýÛÛé•Û ¶Ûà˜Ûé ¸Ûó¾ÛÛ¨Ûé ¬ÛÛýÛ ™öé : 

    

È Û Í©Ûä… Û é 
¾ Û ÉÛ à¶ Û 

A B C 

P 40 30 50 

Q 30 20 40 

   ¾ÛÉÛà¶Û P …¶Ûé Q ¶Ûé …¶Ûä’õ¾Ûé 2000 ÍÛ¾ÛýÛ …éïõ¾Û …¶Ûé 2500 ÍÛ¾ÛýÛ …éïõ¾Û ÍÛäµÛà ÈÛµÛä¾ÛÛ× ÈÛµÛä 
Š¸ÛýÛÛé•Û ïõÁõà ÉÛïõÛýÛ ™öé. Š©¸ÛÛþù¶Û …éï¾Û …Ûé™öÛ¾ÛÛ× …Ûé™öÛ 1000 …éïõ¾ÛÛé ÈÛÍ©Ûä A ¶ÛÛ×, 
2000 …éïõ¾ÛÛé ÈÛÍ©Ûä B ¶ÛÛ× …¶Ûé 500 …éïõ¾ÛÛé ÈÛÍ©Ûä C ¶ÛÛ× ¼Û¶ÛÛÈÛÈÛÛ ¸Û¦éø ©Ûé¾Û ™öé. ¸ÛÁ×õ©Ûä 
Š©¸ÛÛþù¶Û …éïõ¾Û¶Ûà ïõÛýÛÙ“Û¾Û©ÛÛ ›Ûé©ÛÛ …éÈÛä× ¾ÛÛÅÛæ¾Û ¸Û¦éø ™öé ©Ûé ÈÛµÛä¾ÛÛ× ÈÛµÛä ïäõÅÛ 4000 …éïõ¾ÛÛé¶Ûä× 
Š©¸ÛÛþù¶Û ïõÁõà ÉÛïéõ ©Ûé¾Û ™öé. 

   Š¸ÛÁõ¶Ûà ÍÛ¾ÛÍýÛÛ¶Ûé ÍÛäÁéõ”Û …ÛýÛÛé›÷¶Û¶Ûà ÍÛ¾ÛÍýÛÛ¾ÛÛ× Ü¶ÛÄõ¸Û¨Û ïõÁõÛé. 
 

    A manufacturer produces three products A, B and C. The profit per units are 

` 30, ` 20 and ` 40 respectively. The production unit has two machines P and 

Q and below is the required processing time for each product. 

Product 
Machine 

A B C 

P 40 30 50 

Q 30 20 40 

   Machine P and Q can maximum be used for 2000 and 2500 time units. The 

production unit must manufacture 1000 units of A, 2000 units of B and 500 

units of C. Looking to the working capacity the production unit cannot 

produce more than 4000 units in all. 

   Formulate the above as l.p.p. 
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  (2) ¶ýÛæ¶Û«Û¾Û ”Û˜ÛÙ ¾ÛéÇÈÛÈÛÛ ¾ÛÛ¤é¶ÛÛ× ¶Ûà˜Ûé …Û¸ÛéÅÛà ÈÛÛÐü¶ÛÈýÛÈÛÐüÛÁõ¶Ûà ÍÛ¾ÛÍýÛÛ¶Ûé µýÛÛ¶Û¾ÛÛ× ÅÛÛé : 
    

¸ ÛóÛ Ü ¸ ©Û Í¬Û Û¶ Û Š þ Õù •Û ¾Û  
Í¬ Û Û ¶Û D1 D2 D3 D4 

¸ ÛæÁ õ È Û ¥øÛé 

O1 1 2 1 4 30 

O2 3 3 2 1 50 

O3 4 2 5 9 20 

¾ Û Û×•Û 20 40 30 10 100 

   Š¸ÛÁõ¶Ûà ÍÛ¾ÛÍýÛÛ¶ÛÛé ¸ÛóÛÁ×õÜ½Ûïõ ŠïéõÅÛ x11 = 20, x13 = 10, x22 = 20, x23 = 20, x24 = 10, 

x32 = 20 ¾ÛÇé ™öé. ©ÛÛé ÉÛä× …Û ŠïéõÅÛ ˆÌ¤ø«Û¾Û ™öé ? ›Ûé ¶ÛÛ ©ÛÛé ˆÌ¤ø«Û¾Û ŠïéõÅÛ ›÷¨ÛÛÈÛÛé. 

   Consider the following transportation problem for minimizing the cost : 

Destinations 
Origins 

D1 D2 D3 D4 
Supply 

O1 1 2 1 4 30 

O2 3 3 2 1 50 

O3 4 2 5 9 20 

Supply 20 40 30 10 100 

   The initial solution for above problem is x11 = 20, x13 = 10, x22 = 20, x23 = 20, 

x24 = 10, x32 = 20 

   Is the above solution is optimum ? If not then find the optimum solution. 

  (3) ÍÛäÁéõ”Û …ÛýÛÛé›÷¶Û¶ÛÛ× ÍÛ×þù½ÛÙ¾ÛÛ× ÈÛµÛÛÁõÛ¶ÛÛ× ˜ÛÅÛÛé, ¸ÛæÁõïõ ˜ÛÅÛÛé …¶Ûé ïèõÜªÛ¾Û ˜ÛÅÛÛé ÍÛ¾Û›ÛÈÛÛé. 

   With reference to l.p.p., explain sluck and surplus variables and also artificial 

variables. 

 (c) ¶Ûà˜Ûé …Û¸ÛéÅÛ ¸ÛóÊ¶Û¶ÛÛ× … éïõ …¬ÛÈÛÛ ¼Ûé ÈÛÛîýÛ¾ÛÛ× ›÷ÈÛÛ¼Û ÅÛ”ÛÛé : 3 

  Answer in one or two lines :  

  (1) Ü¶ÛýÛäÜî©Û¶Ûà ÍÛ¾ÛÍýÛÛ …¶Ûé ÈÛÛÐü¶ÛÈýÛÈÛÐüÛÁõ¶Ûà ÍÛ¾ÛÍýÛÛ ÈÛ˜˜Ûé¶ÛÛé ÍÛ×¼Û×µÛ ÉÛä× ™öé ? 

   What is the relation between assignment problem and transportation problem ? 

  (2) ÜÈÛïèõ©Û ŠïéõÅÛ (¦øà›÷¶ÛÁéõ¤ø ÍÛÛéÅýÛäÉÛ¶Û) ÈÛÛÐü¶Û ÈýÛÈÛÐüÛÁõ¶Ûà ÍÛ¾ÛÍýÛÛ¾ÛÛ× îýÛÛÁéõ ¾ÛÇé ™öé ? 

   In transportation problem when you can say that the solution is degenerate ? 

  (3) ÍÛäÁéõ”Û …ÛýÛÛé›÷¶Û¶ÛÛ× ÍÛ×þù½ÛÙ¾ÛÛ× Ü¶Û¨ÛÙýÛÛ©¾Ûïõ ˜ÛÅÛÛé …é¤øÅÛé ÉÛä× ? 

   What do you mean by decision variables in l.p.p. ? 
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3. (a) ¶Ûà˜Ûé …Û¸ÛéÅÛ Áõ¾Û©Û¶Ûà ÍÛ¾ÛÍýÛÛ¶ÛÛé ŠïéõÅÛ ¾ÛéÇÈÛÛé : 7 

        ¸ ÅÛ éýÛ Á õ B 

      B1    B2    B3   B4 

  ¸ ÅÛ éýÛ Á õ A   

A1

A2

A3

A4

 









6 8 –16 –10

0 3 –4 2

18 4 10 51

10 2 5 16

 

 

  Solve the following game problem : 

      Player B 

       B1    B2    B3   B4 

  Player A  

A1

A2

A3

A4

 









6 8 –16 –10

0 3 –4 2

18 4 10 51

10 2 5 16

 

… ¬ Û ÈÛ Û /OR 

  ÍÛÛ©Û ïõÛýÛÙ¶ÛÛ× ªÛ¨Û ¾ÛÉÛà¶Û Š¸ÛÁõ¶ÛÛé ¸ÛóÜ’õýÛÛ ÍÛ¾ÛýÛ ¶Ûà˜Ûé ¾Ûä›÷¼Û¶ÛÛé ™öé. ›Ûé ïõÛýÛÙ ïõÁõÈÛÛ¶ÛÛé ’õ¾Û 
¾ÛÉÛà¶Û-1, ¾ÛÉÛà¶Û-2 …¶Ûé ¾ÛÉÛà¶Û-3 ÐüÛéýÛ ©ÛÛé ïäõÅÛ ÍÛ¾ÛýÛ ¶ýÛæ¶Û«Û¾Û ¬ÛÛýÛ ©Ûé Áõà©Ûé ›ä÷þùÛ×-›ä÷þùÛ× ïõÛýÛÙ¶ÛÛé 
’õ¾Û ¶Û‘õà ïõÁõÛé ©Ûé¾Û›÷ þùÁéõïõ ¾ÛÉÛà¶Û¶ÛÛé ºõÛ›÷ÅÛ ÍÛ¾ÛýÛ ¸Û¨Û ÉÛÛéµÛÛé : 

   

ïõ Û ýÛ Ù 
 

1 2 3 4 5 6 7 

¾ Û ÉÛ à¶ Û-1 30 90 80 50 100 90 80 

¾ Û ÉÛ à¶ Û -2 50 40 30 60 20 50 40 

¾ Û ÉÛ à¶ Û-3 60 70 50 110 50 60 120 

  

  Processing time of seven jobs on three machines are given below. If the order of 

processing is machine-1, machine-2 and machine-3 then determine the sequence 

that minimize the total time and also evaluate the idle time for each machine. 

Jobs 
 

1 2 3 4 5 6 7 

Machine-1 30 90 80 50 100 90 80 

Machine-2 50 40 30 60 20 50 40 

Machine-3 60 70 50 110 50 60 120 
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 (b) ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõÛé̂ ¸Û¨Û ¼Û é¶ÛÛ× Š«ÛÁõ ÅÛ”ÛÛé : 4 

  Answer any two from the followings : 

  (1) ’õ¾Û©ÛÛ¶Ûà ÍÛ¾ÛÍýÛÛ¶Ûà µÛÛÁõ¨ÛÛ…Ûé ÅÛ”ÛÛé. 

   What are the assumptions for sequencing problem. 

  (2) ¼Ûé ¾ÛÉÛà¶Û ¸ÛÁõ n ›Ûé¼Û ¶Ûà ¸ÛóÜ’õýÛÛ ïõÁõÈÛÛ ¾ÛÛ¤éø ’õ¾Û©ÛÛ¶Ûà ÍÛ¾ÛÍýÛÛ¶ÛÛé ŠïéõÅÛ ¾ÛéÇÈÛÈÛÛ¶Ûà 
¸Û±ùÜ©Û ›÷¨ÛÛÈÛÛé. 

   Explain steps to solve sequencing problem of processing n jobs through two 

machines. 

  (3) Áõ¾Û©Û¶Ûà ÍÛ¾ÛÍýÛÛ¾ÛÛ× ¸Ûó½Ûä©ÈÛ©ÛÛ¶ÛÛé (Dominance) ÜÍÛ±ùÛ×©Û ÈÛ¨ÛÙÈÛÛé. 

   Explain dominance property to solve game problem. 

 (c) ¶Ûà˜Ûé¶Ûà ÍÛ¾ÛÍýÛÛ¶ÛÛé … éïõ …¬ÛÈÛÛ ¼Ûé ÅÛÛˆ¶Û¾ÛÛ× ›÷ÈÛÛ¼Û ÅÛ”ÛÛé : 3 

  Answer the problem in one or two lines : 

  (1) ¼Ûé ÈýÛÜî©Û ÉÛæ¶ýÛ ÜÈÛýÛÛé•Û Áõ¾Û©Û¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. 

   Define two persons zero sum game. 

  (2) Í¸ÛÌ¤ø ÈýÛæÐü (Pure Strategy) ¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. 

   Define Pure Strategy. 

  (3) Áõ¾Û©Û¶ÛÛ× ÜÍÛ±ùÛ×©Û¾ÛÛ× …ÛÅÛé”Û¶Ûà ¸Û±ùÜ©Û¶ÛÛé Š¸ÛýÛÛé•Û îýÛÛÁéõ ïõÁõÈÛÛ¾ÛÛ× …ÛÈÛé ™öé ? 

   In game theory for when graphical method is to be used ? 

 

4. (a) PERT …é¤øÅÛé ÉÛä× ? ©Ûé¶ÛÛ× ÅÛ“Û¨ÛÛé, ÅÛÛ½ÛÛé …¶Ûé ¾ÛýÛÛÙþùÛ…Ûé ›÷¨ÛÛÈÛÛé. 7 

  What do you mean by PERT ? Give its characteristics, advantages and limitations. 

… ¬ Û ÈÛ Û /OR 

  ¶Ûà˜Ûé …Û¸ÛéÅÛ ýÛÛé›÷¶ÛÛ ¾ÛÛ¤éø ¸Û¤Ùø …ÛÅÛé”Û þùÛéÁõÛé ©Ûé¾Û›÷ ›ä÷þùÛ× ›ä÷þùÛ× ¸ÛóïõÛÁõ¶ÛÛ× ºõÛ›÷ÅÛ ÍÛ¾ÛýÛÛé ¾ÛéÇÈÛÛé : 
   

¸ ÛóÈ Û èÜ « Û A B C D E F G H I J 

¸ ÛæÈ Û Ù ¸ Û óÈ ÛèÜ « Û – A A C C B B E, F D G 

ÍÛ ¾ Û ýÛ (Üþ ù ÈÛ ÍÛ Ûé¾ Û Û×) 2 3 5 4 1 6 2 8 7 4 
   

  Draw a PERT diagram for the following project and find various types of floats : 

Activity A B C D E F G H I J 

Preceding Activity – A A C C B B E, F D G 

Time (in days) 2 3 5 4 1 6 2 8 7 4 
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 (b) ¶Ûà˜Ûé¶ÛÛ ¸Ûíéïõà ïõÛé̂ ¸Û¨Û ¼Û é ¶ÛÛ× Š«ÛÁõÛé ÅÛ”ÛÛé : 4 

  Answer any two from the followings : 

  (1) ¶Ûà˜Ûé …Û¸ÛéÅÛ ýÛÛé›÷¶ÛÛ ¾ÛÛ¤éø ïõ¤øÛéïõ¤øà¶ÛÛé ¾ÛÛ•ÛÙ ÉÛÛéµÛÛé : 
    

ïõ Û ýÛ Ù 1-2 1-3 1-4 3-4 2-5 3-5 4-6 5-6 4-5 5-7 6-7 3-7 

ÍÛ ¾ Û ýÛ 2 3 4 3 2 5 7 6 2 3 5 2 
 

   Find critical path of the following project : 

Activity 1-2 1-3 1-4 3-4 2-5 3-5 4-6 5-6 4-5 5-7 6-7 3-7 

Time 2 3 4 3 2 5 7 6 2 3 5 2 

  (2) ïõÛé̂ ¸Û¨Û ýÛÛé›¶ÛÛ¶Ûà ïõÛé̂  ¸ÛóÈÛèÜ«Û¶ÛÛ ÍÛ¾ÛýÛ¶Ûä× …Û•Û¨Û¶Û ïõÁõÈÛÛ ¾ÛÛ¤éø¶ÛÛ× ›ä÷þùÛ ›ä÷þùÛ ÍÛ¾ÛýÛÛé 
ÈÛ¨ÛÙÈÛÛé. 

   Explain various times, used to estimate the activity time of a project. 

  (3) PERT …¶Ûé CPM ÈÛ˜˜Ûé ©ÛºõÛÈÛ©Û ÅÛ”ÛÛé. 

   Give difference between PERT and CPM. 

 (c) ¶Ûà˜Ûé¶ÛÛ ¸ÛóÊ¶ÛÛé¶ÛÛ× … éïõ …¬ÛÈÛÛ ¼Û é ÅÛÛˆ¶Û¾ÛÛ× ›÷ÈÛÛ¼Û ÅÛ”ÛÛé : 3 

  Answer in one or two lines : 

  (1) ¸Û¤Ùø …¶Ûé ÍÛà¸Ûà…é¾Û¶ÛÛ× ÍÛ×þù½ÛÙ¾ÛÛ× –Û¤ø¶ÛÛ ÈýÛÛ”ýÛÛÜýÛ©Û ïõÁõÛé. 

   Define event with reference to PERT-CPM. 

  (2) ¸Û¤Ùø …¶Ûé ÍÛà¸Ûà…é¾Û¶ÛÛ× ÍÛ×þù½ÛÙ¾ÛÛ× ïõÛÅ¸ÛÜ¶Ûïõ ¸ÛóÈÛèÜ«Û ÈýÛÛ”ýÛÛÜýÛ©Û ïõÁõÛé. 

   Define dummy activity with reference to PERT-CPM. 

  (3) ¸Û¤Ùø …ÛÅÛé”Û ¾ÛÛ¤éø ïõ¤øÛéïõ¤øà¶ÛÛé ÍÛ¾ÛýÛ ÈýÛÛ”ýÛÛÜýÛ©Û ïõÁõÛé. 

   Define critical time for PERT diagram. 

 

5. … éïõ ÈÛÛîýÛ¾ÛÛ× ›÷ÈÛÛ¼Û ÅÛ”ÛÛé : 14 

 Answer in one line only : 

 (1) Ü¶Û¨ÛÙýÛ¶ÛÛ× ÜÍÛ±ùÛ×©Û¶ÛÛ× ÍÛ×þù½ÛÙ¾ÛÛ× –Û¤ø¶ÛÛ¶Ûé ÈýÛÛ”ýÛÛÜýÛ©Û ïõÁõÛé. 

  With reference to decision theory define event. 

 (2) Ü¶Û¨ÛÙýÛ¶ÛÛ× ÜÍÛ±ùÛ×©Û¶ÛÛ× ÍÛ×þù½ÛÙ¾ÛÛ× ÈÛÇ©ÛÁõ …é¤øÅÛé ÉÛä× ? 

  In decision theory what do you mean by Pay-off value ? 

 (3) ¾ÛÛÁõïõÛéÈÛ ¸ÛóÜ’õýÛÛ ÈýÛÛ”ýÛÛÜýÛ©Û ïõÁõÛé. 

  Define Markov process. 
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 (4) ÍÛäÁéõ”Û …ÛýÛÛé›÷¶Û¶ÛÛ× ÍÛ×þù½ÛÙ¾ÛÛ× Ðéü©ÛäÅÛ“Ûà ÜÈÛµÛéýÛ¶Ûé ÈýÛÛ”ýÛÛÜýÛ©Û ïõÁõÛé. 

  Define objective function with reference to l.p.p. 

 (5) ÍÛäÁéõ”Û …ÛýÛÛé›÷¶Û¶ÛÛ× ÍÛ×þù½ÛÙ¾ÛÛ× ¸ÛóÛ¸ýÛ ŠïéõÅÛ¶Ûé ÈýÛÛ”ýÛÛÜýÛ©Û ïõÁõÛé. 

  Define feasible solution with reference to l.p.p. 

 (6) ÍÛäÁéõ”Û …ÛýÛÛé›÷¶Û¾ÛÛ× …éïõ ïõÁõ©ÛÛ× ÈÛµÛä ŠïéõÅÛ¶ÛÛé …¬ÛÙ ÉÛä× ? 

  What do you mean by multiple solution in l.p.p. ? 

 (7) Ü¶ÛýÛäÜî©Û¶Ûà ÍÛ¾ÛÍýÛÛ¾ÛÛ× …éïõ ïõÁõ©ÛÛ× ÈÛµÛä ŠïéõÅÛ îýÛÛÁéõ ¾ÛÇé ? 

  When the multiple solution to assignment problem exists ? 

 (8) Áõ¾Û©Û¶ÛÛ× ÜÍÛ±ùÛ×©Û¶ÛÛé Š°éùÉÛ ÉÛä× ™öé ? 

  What is the objective of game problem ? 

 (9) ’õ¾Û©ÛÛ¶ÛÛ× ¸ÛóÊ¶Û¶ÛÛé Š°éùÉÛ ÉÛä× ™öé ? 

  What is the objective of sequencing problem ? 

 (10) ¸ÛÅÛÛ¨ýÛ Ý¼Ûþäù¶Ûé ÈýÛÛ”ýÛÛÜýÛ©Û ïõÁõÛé. 

  Define Saddle Point. 

 (11) Áõ¾Û©Û¶ÛÛ× ÜÍÛ±ùÛ×©Û¾ÛÛ× ¸ÅÛéýÛÁõ¶Ûé ÈýÛÛ”ýÛÛÜýÛ©Û ïõÁõÛé. 

  Define player with reference to game problem. 

 (12) ºõÛéÁõÈÛ¦Ùø …¶Ûé ¼ÛéïõÈÛ¦Ùø ¸ÛÛÍÛ ¸Û±ùÜ©Û…Ûé PERT-CPM ¶ÛÛ× ÍÛ×þù½ÛÙ¾ÛÛ× ÍÛ¾Û›ÛÈÛÛé. 

  Explain forward and backward pass method in PERT-CPM. 

 (13) PERT …¶Ûé CPM ¶ÛÛ× ¸ÛæÁõÛ ¶ÛÛ¾Û ›÷¨ÛÛÈÛÛé. 

  Give full name of PERT and CPM. 

 (14) ¸Û¤Ùø …¶Ûé ÍÛà¸Ûà…é¾Û ¶ÛÛ× ÍÛ×þù½ÛÙ¾ÛÛ× LFT ¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. 

  Define LFT with reference to PERT-CPM. 

____________ 


